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) HinbHausa Ne 1
g |5 3 11,0 10C3 105 | 0,50 I 28 | 36 325 3 BCP BCUXaHHSA 8 B 4
z S 9 2,8 9C31 /13 112 | 0,55 I |28]36 320 3 BCP BCUXaHHA 15 = 3 g
E 5 12 1,4 10C3+]13 87 10,70 | 28 | 30 420 3 BCP BCUXaHHs 25 g E(‘ e
é §' 5 14 3,6 9C31]13 112 | 0,50 I 29 1 40 325 3 BCP BCUXaHHSA 20 g 3 E
23 |10 {10 10,3 10C3 77 10,70 1A 127 (32 420 3 BCP BCUXaHHA 25 g E 5
ﬁ'-{% 10 |11 4,5 6C33/131Ak6 72 | 0,55 IA |26 |30 288 3 BCP BCHXaHHSA 20 =8 =
¥ 112 |10 1,3 10C3+13 72 10,55 I 25132 300 3 BCP BCHXaHHA 20 %8 2
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25 |7 2,2 7C3313+Oc+bn+Ax6 | 80 | 0,65 IA |30 |36 440 3 BCP BCUXaHHS 25
25 |9 2,2 9C31Ak6+/13 87 10,55 IA |31 36 350 3 BCP BCHUXAHHSA 20
25 16 1,4 8C32]13 82 10,60 1 27 |36 360 3 BCP BCUXAHHA 20
. 25 17 3,2 9C31AKk6+/13 82 10,70 IA |28 |36 420 3 BCP BCHUXAaHHA 25 %
- c‘% 25 |21 2,2 10C3 72 10,70 IA |26 |28 405 3 BCP BCHUXaHHS 25 =
:f 28 |4 11,5 10C3 72 10,70 IA |25 |28 420 4 BCP BceuxaHus 25 E
e 38 8 6,0 10C3 77 10,75 IA |27 |30 455 4 BCP BCHUXaHHA 30 e
qg,- 38 |9 2,7 10C3k 55 0,70 1b 25 |24 382 4 BCP BCUXAHHA 25 =
3 Beworo: 66,3 =
2 Jinbauust Ne 2 E,
o 40 |9 162 | (1) 13,2 1 13,2 | 10C3+]I3 107 | 0,60 1 28 | 36 383 3 BCP BCHXAaHHSA 20 g
% 48 |2 0,4 10C3 57 |0,60 1A 124 |22 310 3 BCP BCUXAHHS 15 &
= 48 |3 |04 10C3(42)+Ca+]I3 42 [060 [1A |19 |18 220 |3 BCP | Bouxanns 15 g
E- 48 |4 3,5 10C3 97 10,50 11 23 36 250 3 BCP BCUXAHHA 15 E
48 | 6 1,2 10C3 57 10,65 TIA |24 |26 332 3 BCP BCUXAHHS 20 A
48 |9 2,6 10C3+/13 57 10,70 IA |25 |28 380 3 BCP BCHUXAHHS 25 §
48 11 3,6 9C31 /13 94 10,55 I 27 | 36 333 3 BCP BCUXaHHA 12 §
59 13 1,2 9C31/13 107 | 0,55 I 29 |40 350 3 BCP BCHUXaHHS 20 g
59 15 4,4 8C32/13 107 | 0,60 11 27 | 36 340 3 BCP BCUXaHHA 20 2
59 16 4,3 10C3 57 10,70 IA |24 |26 360 3 BCP BCUXaHHSA 25 .E
59 17 5,0 10C3+Bn+/[3+Ax6 72 10,70 IA |27 |28 420 3 BCP BCUXAaHHS 25 o
59 18 6,8 10C3+bn+/13 62 | 0,75 IA 126 |28 430 3 BCP BCHXaHHA 30
Bevoro: | 49,6 | (1) | 132 | 132
Pasom : 1159 | ) [ 13,2 | 13,2
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